Year 2 Homework Answer

Module 10: Metric units of length

1.
Answer may vary
2.
3.
6 5
10 3
Answer may vary
4,
500 300 5
3 2000 10
5 9 3
600 2 5
2 1 3
5.
Tallerthan 1 m Longer than 1 m
Taller than 1 m Shorter than 1 m
6.




10.

11.

12.

13.

14.

15.

12

cm

cm

cm

cm

N/A

N/A

N/A

N/A

6 cm

N/A

6 line segments



16.

17.

18.

19.

20.

21.

10 cm g

Thickness of a dictionary

: &

Height of a Christmas tree

Height of a town house

94

Width of an eraser

The third figure

False

False

True

True

False

False

10 x 5=50 cm

1m=100cm
100 -85=15cm

85-30=55cm



22.

23.

24.

25.

26.

3-1=2m

12+2=6m

6+2=3m

a) Hare is ahead of the tortoise. By 40 m

b) Tortoise is ahead of the hare. By 30 m

20 x 6 =120 cm

120cm=1m20cm

44+5=9
Im>8m

Yes, he can



